1/10

@

)

SiO2
R2

1/10N

0.2484

3

0.1676

1

3)

0.5420

4)

(PB)

0.4663

@
)
©)

(1)
2

@
)
®
©)
H11
®

H13

873-2000

H13

H11

H14 15




S6, ()

o N M O

9

so,

ON O @

18
16
14
12

18
16
14
12
10

(%)

SO,

H15

A B
| . | .
R A | A
[m] (m] [m]
i € oo - I’ =
! +* 8 i g .
o * o ¢ o
[ oo a I ¢ . " A H9
0 10 20 30 40 s0 O 5 10 15 20
SiO, (mg/100g) SiO, (mg/100g)
C D E C

5 5 | .

- - s [m]

| i [m]

| i i *

i i i D e

- y = 0.1843x + 3.873 s y= 0-g146x +6.1217 i y = 0.1204x + 6.3086

L R? = 0.542 i R” =0.4663 L R? = 0.5548

0 20 40 60 80 o 10 20 30 0 20 40 60 80

SiO, (mg/100g) Sio, (mg/100g) SiO, (mg/100g)
H13 H9
A B C
12
y = 0.3451x - 7.9156 A
10 | R=07648 R - |« a
A ]
8 I - | m Ag
x @ f.&A
6 L | ®
* X ‘ ° |
4 [~ (m] B
@ A . .,
2r £03686x - 10546 [
0 .. R=08501 —
O 10 20 30 40 50 60 O 10 20 30 4 5 600 10 20 30 40 50 60
SO mg/100g) SO mg/100g) SO mg/100g)



